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Identify and C alculate the Area and P erimeter for each Polygon.

1]

==341
a=17t

Ares

P erimeter:

T wpoe:

4§

=33 vyds
a=1865yds

Ares

w
o

P erimeter:

T wpe:

W
S

==54mm
a= 257 mm

Ares:

P erimeter:

T e

210
“&
a

a=082vyvds bh=486vyds
c=94vwd=

3)

a

a=091%t h=441

Area Ares:
FPerimeter: Perimeter:
T yvpe: Type:

=

) j
af |n
a

=5

a=E66cm h =595 cm s=76mm

a=329mm
Ares: Ares
FPerimeter: Perimeter:
T ype: Type:
51 =N

af |n b
C
s

&= 548inches b= 565 inches
== 2.5 cm c=89inches h =54 inches
a=125cm
Ares: Area:
FPerimeter: Perimeter:
T e Ty

- =
W

Ml ath-Aids . Com



